Pre-Calculus ~ Quiz3.1-3.4Review #2  name:_Hey.

**Thé answer key for this review will be posted online. Please use class time to complete this review for Friday.

Identify the zeros and their multiplicities (greater than dne), and the y-intercepf of the function. The’h‘u_se end
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Determine the end behavior of the polynomial function. NO CALCULATOR!!
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Divide the po’fy'nomials from #5 and #6 using synthetic division. : - =19
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Use the Remainder Theorem to evaluate P(c). x+5 _
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11. Find the remainder when x3°* — 6x201 — x2 — 2x 4 4 is divided by x + 1.

) ol VN 2(-D44 = -| cel-D-2UDFH T SV EbE2Y =‘E

Use the Factor Theorem to show that x + 4 is a factor of P(x).

12. P(x) = x° + 4x* — 7x® — 23x% + 23x + 12
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Find a polynomial of the specified degree that has the given zeros (and other characteristics)

13. Degree 3; Zeros 2, 3, and—"'%; Constantis 12.
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Use the given polynomial to fill in the missing information.

14, P(x) =x*-2x3 - 7x% +8x + 12

a) List all possible rational zeros: l§‘1 +2 t3 ¢ 4 t6,E I)_—)

b) Find all real zeros: :'f‘) 2- ,?a,‘?-j
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EValuaie the expression and write it in the form a + bi.
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